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50040101023 vt A &5 14 21 1 16 4.0 150.0 1944
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50040101024 ! AT ‘7T 2 13 1 1 4.0 36.0 1968
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50040102001 s o sHEE 38 1 2 22 0.180 1925
50040102002 2% o sHEE 1 1 22 0.150 1971
50040102003 sk o IS 32 1 1 11 0.080 1971 T

_57_




%

B

5.3 & "<

Mo T

o NF
¢
Mo 1M S
N <
rZ g8
T 2| @
50 = S =)
A
G
~
o
o
=
T
(@}
w1 -
o T
o0 0
"
B S
w <
A=
(e}
T S
B S
S
of
Y
~
oF EOy 1o
fo | B s
NI:E O_H O#O
A
-
i i
- ~
)A
ﬂo
‘mo
Ho — Wﬂ
o
A=
b 2
m 3
=3 = | =
oy g
e )
TloH (=)
LO

_58_



54 AYKR H3

S THE A Fewd | AWy | o@w | A5 a2 A 3 | #9%
H ak— T o o670 ]
om = (ha) (ha) Hl & (m'/s) =0] 4 o] Hx &=
}\] ,E_,‘—TL H 7?—;]y o ﬂ (m) (1’1’1)
Al 1 0.00
50040104001 9 Tt 45 1,125 1 0.09 1.6 110.0

_59_



o

[~

il

Mo 1A
N T

ojp

o

T 2
E

~H

~
st

B

o T

|
(ha)

Qﬂj
(ha)

X

oF
Ho
o

A

o

™0
Bo
o
F

<

_60_



o

g}
w R A B R T R U BT R R B A
<
o M 2l |z &2z 38K 3|32
BT 2K Z2S2I8|S|2SK S22 NS|2|8|3
S O () () (]
w3
wE
iy
I SEE 2 < <
DO | © (] o0 ©
E\.m./ o0 | o0 H > —
<R
ol Neol ol NolEel ol NeolN ol Rell Neol Bl ol ol ol ol el
~ 2|3 |3a|S|3|s|2|Sc|S|3|2|2|1S2|2]32]|2
&om20003000050500009
0~ | Q| 1 <t o —
X SRR = & N
= £
X Z
—— | | | == |~ || | | | =~ —
UL
T
olalg| ololalalalalT|alalalo
= %643 n | | | m|ju | Fr| o omju | m|om
B3
w <
<+
'
B3
B =
o
™
®
o | Mo Mo | o | to | bo | o | Mo | Mo | o | Lo | o | bo | bo | o | o | o
Ho | B X | me | T TR | A | #o | o | mo | To | RO RO
F | o Mo | Mo | mr | B | )| W | of |do|do|do|do|de| XX |T
(-
I e e e e e T T T T T |
| KA KA R R KRR R R R KR K
< O HO | RO | RO | Fo [ Fo | Fe | Wo| WO M| RO |Re|Fe | T |
— A | A
KO I L
s 12&04121112341%’0AL
Mo | Q||| w | B w | TR H s | B | He | mo | R|K |
o o |t | i | P { B | B | o | oo | co | co | do|do | K| |
AT E._O ﬁOEO
— NN |00 H ]| M|
ul SlsIsgsg8 8z 383 s/3|
I EIE|EIEIEIEIE|EIEIEIEEIE|EIE
m |R|lg|g|g|g|s|2|g|8|8|8|g/2|2|8|8
w S121321212222222222 2
ﬂvﬁ ool ool ol ol Nol ol ol ol ol Bl ol ol e
IO |10 [ W0 |10 | W0 |0 | w0 |0 |w|[W0n|[w0n|Lw|w|w0w|Lw




gagas | sazaa i kST kT I it - FUF
AT | edE 2] (ha) (ha) IR (m'/<) () ? S T
50040106015 a}4kL HAk shakE 3.0 5 260.00 120.0 T
50040106016 Sk Bk ey 3.0 1 0.00 T
50040106018 A1744592-1 T A E 4.0 7 200.00 120.0 T
50040106019 21745934 e A8E 4.0 3 253.00 110.0 T+
50040106026 | 3}71064-2 =i ks 5.7 10 785.00 51.0 T
50040106027 3141073 Rl stdE 10 1,040.00 70.0 HZx
50040106025 | 3}1088-2 i s 6.0 10 810.00 51.0 T
50040106024 3141105 T shE 1 309.00 10.0 HZx
50040106023 | s+41116-5 i s 3 205.00 11.8 HZx
50040106022 | -g1126-2 T s 3 205.00 14.7 HZx
50040106021 | 3}1127-4 T shE 3 260.00 10.2 HZx
50040106020 3141143 i st E 3 132.00 80.0 Bz
50040106028 sh41145 T s} 10 276.00 12.7 HZx
50040106031 s}723 T stdE 3.0 3 125.00 80.0 T
50040106029 34377 T shdE 3.0 10 475.00 51.0 T+
50040106030 355 =i ks 3.0 3 130.00 30.0 T
50040106032 Bt uA A &5 5.0 10 152.00 100.0 T

_62_




